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1.] TER—EXRREZBEAGCHDTRR  RANFERD12.5mm, BEE
BB 11.6mmo FRHES 50mm » BE THIRHE :

ﬁ{;ﬁ ik nE Rk

kN
259 0051 886  0.508
360 0071 934 071
46.6 0092 98.8 1.016
54.5 0.107 107.2 1.524
708 0.152. 135 2032
743 0.203 17.5 2.541
80.5 0.305 1210 3.048
850 0.406 1233 3.560
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@ 0.5 AmEML o

(b) 30 psi WGHEIED ©

(€ 2400 rpm o

@ —IFREARR 3200 1bf ©

(@) 31N 425 in® o

#) 2U.S.qtR 1lpto.

(8 55 mph o

(h) 15 gal FKitho
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STRESS, MPa

o Jo 18 30 do 86 <o 6
STRAIN, multiply result by 107>
3 ,
= 25'9(132 4 = 211 MPa
(12.5)W
1000 MPa  Ans.

At 25.9 kN the stress is (=

L]

From ¢urve, S = 656 MPa, &
v y € u

% Flongation = [71.20(10)"°](100) = 7.12 %  Ans.

1-2# (a) An acre contains 43560 ;2 The area in n? is

A - 343 560)(0.305)% = 2025 m’  Ans.
(5) p = (30 pst) (6890 22y (— L ) = 207 kPa  Ans.
P2 "10° pa/kpa

1 1 -1
(C) n = (2400 m)(m) =40 8 Ans.

or n < (40 8™1)(2) = 251 rad/s . Ans,
(d) m = 3200/32.2 = 99,4 slug
m = (99.4)(14.6 kg/slug) = 1450 kg  Ans.

2.
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(e) V = (425 £0°)0.0254 m/im)>(10 dmi)> « 6.96 dm
vhich. 1s the same as 6.96 g Ans. ’
(f) V = 2,5/4 = 0.625 U S gal
V = (0.625U § gal) (07003 78 m>/gal)(100 cm/m)> -
= 2360 cm® (2360 mg)  Ans. .
(8) v = (55 mi/hr)(1.61 lm/mi) = 88.5 km/hr  Ans.
(h) V = (15 gal)(0.003 78 m°/gal) = 0.0567 m> Ans.

(1) p = (14.7 psi)(6890 p‘a/psi)(—il——-)
. . 10° Pa/kPa

B |

100 kPa Ans.
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(a) o0.=10kpsi o, = —4 kpsi

(b) o, =10 kpsi, t,, = 4 kpsi cw

() o.= —2kpsi, o, = —8 kpsi, 1,, = 4 kpsi cew

{d) ¢, =10 kpsi, o, = 5 kpsi, t,, = 1 kpsi cw
2.1 M - SR TATAamEE :

(@) e¢,= —17kpsi, g, = —4 kpsi, 7, = 7 kpsi cw

(b) o©,= —10 kpsi, 5, = —12 kpsi, 1., = & kpsi ccw

(c) o,=4kpsi s, =8kpstcw

{d) o, =4 kpsi, o, = 12 kpsi, 1,, =7 kpsi ccw
KTAGENRE » FEBE » REEHORRGE » XK »y BEETE
PR Vv A

(a) o, = —30 MPa, o, = —60 MPa, 7,, = 30 MPa ccw

() o.= —9%0 MPa, g, = 10 MPa, 1,, = 40 MPa cw

(c) ©6,=75MPa, o, = 15 MPa, 1,, = 32 MPa ccw

(d) &,= 120 MPa, 7,, = 60 MPa cow

#H2.3ER  KATHEARER:
(@} ¢,=84 MPa, ¢, = —42 MPa, t,, = 96 MPa cw

{b) o,= —50 MPa, o, = 60 MPa, 7., = 80 MPa ccw
(¢) o,= —60 MPa, t,, = 40 MPa cw
(d) o,=20 MPa, g, = —60 MPa, 17,, = 40 MPa cw
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2.1 —SREIER > REBERR 20 mm » AEER 2.5mm o 5H— 40 mm
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2,12 HHRHED o, Ro, BHENR -REHEYRYSFHEDAK

2,13 —EHEME ( electrical strain gauge) EZEHE | » EUEIEH S
i ?ﬁﬂf%’FﬂB@E&ﬁ T e, =00021 m/m e; = —000076 m/m

BR=MEIEDREKMEEME ( normal strain )o 7R > BEES
HBH? #FFH  E=207GPa B u=0292.
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